FgArea: [0 ]
NC11 P3-5
2025-05-27 (Day 59)




/0/‘// 8
QAH\\\.Q Av
QAHVQ -

" AM.
——e .
AR
—

000000000
00000000
00000000

I - - — —



VN

1

——

1600 ~
1400 ~
1200 ~
1000 ~
800 -
600 -
400 -
200 -

55

50

45

40

35



——

0.5
0.4
0.3
0.2 -
0.0



[ ] 1 VI vs Du
2000
L
1800 ~ e
[
1600 ~
®
1400 @
1200 +— @

T T T T T T T
2250 2500 2750 3000 3250 3500 3750
DU






[+ 1 setVI]

170
160 -

58

56

54

52

50

48



1 (fgArea = NA)

4500 |- ! ! ;
—0—  ECI*10% ,

—0—  ECO !

4000 3 !
¢ .

1

|

1

3500 i
1

1

l

3000 ]
1

‘K\u~.r4b4n\.(1r*uhar"\._¢>4lf“\"1r4"'\ |

1

2500 ]
I

1

|

2000 :
1

1

1

35 40

45

50

55




PH1%10%
PHO

——

(3] o [ee] © < (3] o [ee]

~ ~ © © © © © 12}




Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

2 % 2 0 X 2 X X 2

4 I 1 I I I I

3500 —>— EcFzExp :
3000 | ¢ ECdef :
—>— water_ec |

2500 ,
2000 !
1

1

1500 |
1

1

1000 I
1

500 Warning: col [ EcFgro’, 'EcPltng'] is missing

0 25 50 75 100 125 150 175



Plot [’ ECopt’]
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Plot Sensor and FgRec Data

0. 04 -
0.02 -
0. 00 -
0. 02 -
~0. 04 -

278 -
276
274 -
272 -
270 -
268 -

179
178 -
177 4
176
175
174
173

Te} [To) Te}
~ ~ ~
Lo [To) Lo
o o o
o) To) o)
[Te} [Te] [Te}
Lo [To) Lo
o N o
Lo Te) Lo
o o o
= o o
Lo Yol o
> > >
© © ©
© © ©
e} o Te}
~ ~ ~
<+ < <t
o o o
) o) )
<t <t <t
- [To) [Te) [To)
N N N
<t < <t
o o o
= =) o
< < <
- O
> > (] > [&]
[T T > o o
T © =} [T T
~ ~ ~
™ ™ ™

0. 6456
0. 6454
0. 6452
0. 6450
0. 6448
0. 6446

57.5

55.0

52.5

50.0

47.5

45.0

42.5

40.0

37.5

day



400

300

200

100

30.0

21.5

25.0

22.5

20.0

17.5

15.0

12.5

80

70

60

50

40

2000

1500

1000

500

3.0

2.5

2.0

1.5

1.0

0.5

1.2

1.0

0.8

0.6

0.4

0.2

Plot [["I", "lopt’], ['T", "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl’, ’optEtRate’]
N HW\ n AWH\ — ]
WJVM | \V' | s S
|
E /JWMW\V\A T et
A A
[ A
N ] /i\. AN/ -
N \/\r/ AN Y VY
B A
| l E/\V/\Vj\/\L
A W
A VV] i
W i
M% ——  optETcl
— ‘V;-\/VA—VA‘
N f | W‘\\M
"ﬁ[ AN
i Af’“-“—____-____:i\_ — LAl |
p \\
e AN
e |
e § N
iy | ~
e | SN
‘ E ‘v/'\ —— optEtRate
ANV [V Y ATV A —
IR A\WUAM;/J\/ !
| i
| |
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-5 0
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